Exercise-1

1. (@) 1km=1000m
12 km = 12000 m
So, 12 km 400 m = (12000 + 400) m =12400 m

(b) Tm=100cm |
45m=45x100cm = 4500 cm

So, 45 m 20 cm = (4500 +20) cm = 4520 cm
(¢ 1Thm = 100m
15hm = 15x100m = 1500 m
(d) 1dam = 1000 cm
2dam = 2000 cm
So, 2 dam 45 cm = (2000 +45) cm = 2045 cm
(e) 1g = 1000 mg
72g =72x1000mg = 7200 mg
(f) Thg =100g
8hg = 8x100g = 800 g
So,8hg 40 g=(800+40) g = 840 g
(g) 1kg = 1000g
54kg = 54x1000g = 54000 g
S0, 54kg 800 g = (54000 +800) g = 54800 g
(h) Tg = 1000 mg
g = 11x1000mg = 11000 mg

50,11 8900 mg = (11000 + 9
r=( 00) mg = 119
() 1ke = 1000/ g .

Bkl = 8x1000¢ = 8000 ¢

) 55 £=455x1000me = 45500y

(k) 17 = 100¢¢
25/¢ = 25« 100 ¢c¢ = 2500 c¢

50,250 15 ¢f = |
2 C0=(2500+ 15) ¢p = )
M 14 = 1000 1 B
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)1k€~1000e e 1£=1000

= 99000 m/

: m/
i |
~100cm = 1cm= ——
RRLY Top ™ = 001 m

725 cm = 725 x0.01m =7.25m

~100dm = ldm= 1
1 dam m= 100 dam = 0.01 dam
3dam 80 dm = 3dam + 80x0.01 dam

= 3dam+08dam 3.8 dam

(b)

1= 001 m
gm76cm = Im+76x0.01m

=9m+0.76m = 9.76m

(C) 1¢n

1
~1000m = 1m =——km =
d 1km _ 1000 m = 0.001 km

8 x 0.001 km = 0.978 km

978 m =97
1
8= 79598 = 0.01dg

_100mg = 1m
_ 1575x0.01dg = 15.75dg
(f) 1g=1000mg = 1mg—1—016b-g 0.001g

- 15g950mg = 15, +950 x0.001 g = 15g+0958 = 15958

(g 8505 mg = 8505 * 0.001g = 85058

() 1kg=1000g = 1g-I(—)65kg 0.001 kg

2850 g = 2850 0.001kg = 2.85kg
1 da¢ = 0.01 dal

= ——

(l) 1da¢=100d¢ =1dl = 100

3das50d4= 3da£+50><001d
*3da£+05da£—
= lﬂ—-OOO]kI’
2.95k¢

(e) 1d8
1575 mg

al
3.5 dal

() 1k¢/=1000¢
2950 £ =2950 * 0.001kl =

‘k)lf =100c/ = lct

91’38ce—9e+38x001€‘
1 k“oomke

01kl = 07351<£

@
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Exercise-2
0

1. (a) 9.61kg + 6.75kg i 9-61k
6.9, %

- v 75 %
=16.360 kg oy, ky
ky

(b) Convert the given measures into kg using dem
atj

1g = 0.001kg, 660g =066kg, 855 < 00gs, o,

9kg660g = 9.66kg,  18kg85g = 18.085kg g
@

9.660 kg

+18.085 kg

27.745 kg

9kg 660 g+18kg 85 g=27.745kg
() 1¢=0.001ke, 35¢=0.035k({, 104 = 0.010ke

79k 35¢ = 79.035 k¢ | @?9.035 ke
_ 95.000 ke
95k = 95.000 k¢ | +80.010
80k¢ 10¢ = 80.010 k¢ 254.045 ki

So, 79k¢350+95 ki + 80k£ 104 = 254,045 k¢

(d) 1mm=0.1cm, 8mm=0.8cm, 6 mm=0.6cm, 5mm=05a

9cm8mm = 9.8cm 9.8
6 mm = 0.6 cm 0.6
+10.5 am

10cm5mm= 10.5 cm : 20.9 cm

9’cm8mm+6mm+10cm5mm = 20.9cm

(e) 1m=0.001km, 63 m=0.063 km ; 5-9.30 %
eid85.993.
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{ m(=0.0010, 65mE=0.065¢, 90 m(=0.090 ¢, 86 m/=0.086

f
99 ¢ 65ml = 99.065 ¢ O @O
99.065 7
90 m/( = (.090 ¢ 0.090 7
+ 10.086 7
10 ¢ 86 m( = 10.086 ¢ 109.241 ¢
99 ¢ 65m{+90mi+10¢ 86 m¢ = 109.241 7
@ 9:69ke — 675Kk8 ,@;_9 kg
_094kg ~ 6.75 kg
2.94 kg
) 1 m=0.001km, 625m=0.625km, 125 m=0.125 km
-10x
12km 125 m = 12.125km 0562 3. km
; 1.500 km
12km 125 m - 10 km 625 m =1.500 km
(¢ 1cm=0.01m, 89 cm=0.89m, 5cm=0.05m @
2m5cm = 2.05m | g’.ﬁ’ﬁ’m
o»m5cm~-89cm = 1.16m -0 .89 m
1.16 m
(d) 1m¢=0.0017, 56 m/{=0.056 ¢ ® ©]0)
@O B0
107 56 m/ = 10.056 ¢ Xy . o0 {
204 = 20.000 ¢ -10.056 ¢
9.944 ¢
20£—10€56m€=9.944€ i
(e) 1g = 0.001kg, 3908 = 0.390 kg, 160g=0.160kg
‘ .
1kgl60g = 1.160 kg 0)
X X0 kg
1kg160g-390g = 0.770 kg 20,209 0 kg
e 770 kg’
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p90mg = 0.690 g, 150 mg = 0.]50g V

() 1Tmg = 0.001 &

8690 Mg = 8.690 & V)

, 28 ?,@ :

20 g 150mg = 20.150 g s g 6’9f0

| i °F

20 150 mg-88 690 mg = 11460 g -il%

3. Total length of the cloth = 6m25cm+1m75 cm+8m5( ¢ 5

QOO _ 25m+175m+8.50m

.75 m m

_ 1650m 5 Ol |

+8.50m ‘ 5Cm025 i

/ g

16.50m | 75 cm = 075m"3_

- . o}

4. Total distance travelled by Ali = 18 km 200 m + 12 km 609,

00 +3km425m ;
18.200 fan = 18200km+12600km+3425km

12.600 km

L 3.425 km  =34225km Im  =0.001kn|

= - 1200m =0.200km| &

. 225 km :

3 2 600m =0.600kn| |

425 m=0425kn| |

5. Total weightof the fruits = 4kg200g+ 2kg800g+5kg 750g

QD oy T HVE 2800k +5730%8

» 800 kg  =12750kg 1g =000k

+ 5.750 kg it 4 200g = =0.200%

‘ g00g =080\ F

12.750 kg M
Thus, the total weight of fruits bought by Mayais 12.750kg - §

6. The weight of abox full of dry fruits = 12. 650kg -

The weight of dry fruits = 9kg 800g = 9, 800 kg
The weight of empty box = (12, 650 -9. 800) kg
f @@
= 2.850 kg : 0¥
- 2850% 1000g 9
= 2850g
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% yofoll left = 70=20355my

ﬂuﬂ
' =70-2355/

YO !
7";;{3 ) = 4.645 ¢
_2.39>"

= 4064
545 1 45 my

oua ity of water leftin the tank at the end of the day

5. ..‘ @Q@ = 300 ¢-87 0225 my¢
g 080T = 3000-8795,
87 225 & = 212,775 Imf = 0001/
71’7/7_1____’———57— = 2120775 my Zome = 0225
Exercise-3
| e length of cloth required to make one shirt ~ =2m 40 cm
. The length of cloth required to make 10 shirts =2 m 40 cm x 10
=240m %10
=24m

Thus, 24 m cloth is required to make 10 shirts.

The total weight of 7 tins of biscuits = 1kg750gx7

L

1.750 = 1.750kg x7
x 7 .
12.250 = 12.250kg

. Thelength of the ribbon = 8 m 54cm = 8.54m
] Itis cut into 7 gqual pieces. 454
The length of each piece = 8.54 m 7= 100 m =

PRan o B (854_ Jm___[@x})m.:%%m

%em = 054m 0 '
o =122m

Thus,  the length of each piece is 1.22 m.

: Thequamm of ch farmly w111 8‘3‘ s
ty rlge,ea Y ® ="48700kg.+57
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g =0001kg
700 g =0.700 kg

= 87 785 m/

Total quantity of soup
= 8.7857

It was distributed equally among 7 people.
The quantity of soup was given to each person = 8.785/ + 7
1255

¥ _ (8785 . )/=(8785x1)ﬁ

785 m¢ =0.785 4

1255 , _ 12550 =14 255m¢

==y =

1000

1/ 255 m/ soup was given to each person.

"Review Exercise

Thus,

(a) 9.325kg = 9.325x1000g = 9325¢
(b) 14¢ 525m/ = 14 ¢ + 525x0.001 ¢

1me = 0001

=14/¢ + 0525/ :
525 mf = 0.555(

= 14.525/

1
(¢) 1dam = — km = 0.
m o m = 0.01 km
5km25dam = (5+25x0.01) km
= (5+0.25)km = 5.25km

1
1000 0.001 k¢

73657 = 7365x0.001k¢ = 7.365 k¢

(e) 23km 50m = (23 x 1000+50)m = (23000+50)m 23030"1‘

(f) Tem = 0.01m

9356 cm = 9356 x (.()
Mathematics-5 (Term. 2) le)m = 93, 56m
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1‘}10 d '

A

_ 0.001km

1

i 1221

jstance covered by busin 1 hour

b ]22 k,ln ”)0 m+ ()
= 12201 km = 6

om’ ~ 0.100km ( = ()J ke 4% (1221 "
10 X ;)-J km
AR = 20.35 km
The rotal weightof the items = 10 kg 400 g+15kg 500
; Z0.001 kg = 10.40 B a0
g 0001k 10400 kg +15.500 kg + 4.600 kg
1008 =0.400kg = 30.5kg 00
s0g =0-500kg 10.400 kg
w 15.5 00 kg
+4.600 kg
Thus, Mrs Anwar bought 30.5 kg of theitems. 3 0 .50 0 kg

The mango juice bought by Rohini = 5.5¢

The mango juice consumed
The quantity of juice left

= 0.001-¢
0.925 £

1mf
925 m/

—

- 3.92

® @O

5.5 !

= 30925mé= 3.925(
= 550-3925/
= 15751

5.4

1c4 557

5.4

The quantity of juice left with Rohini is 1.575 £.
HOTS

Abox has 4 red bottles, 5 blue
F | M, 625 m/ and 750 m/ respectively.

bottles and 3 green bottles of capacity

ij’, 4 4 red bottles each of capacity 500 mé. -
TOtal capac1ty of 4 red bottles = 4x500m¢

5 blue bottles each of capaci

+ Total capaaty of 5 blue bottles

3 green bottles each of capacity

= 2000 m¢

ity 625 mt. _
5 x625mé

= 3125 m¢{

750 m¥. =
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(b)

Total capacity of 3 gre

So, the individual ¢
2000 m¢(, 3125 m ¢ and 2

Total capacity

Thus, the total capacity of all bott

= 2250 m¢
apacity of red, ?olue and green boitle
250 m( respectively. :
of all bottles = 2000 m? + 3125 m/¢ +225( 5
= 7375 m/
= 7375 x0.001 £
= 7.375¢

en bottles = 3x750m¢

les in the box is 7.375 ¢.
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